
Corrigé	de	la	fiche	d’exercices	n°5	sur	Thalès	«	papillon	»	
	
Vignette	n°1	:	
	
Les	droites	(EI)	et	(GH)	sont	sécantes	en	F	et	coupées	par	les	parallèles	(GE)	et	(IH).	
D’après	le	théorème	de	Thalès	:	
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En	effectuant	les	produits	en	croix,	on	obtient	:	𝐹𝐻 = .,/×1,2

3,4
≈ 2,3	

	
Vignette	n°2	:	
	
Les	droites	(EA)	et	(CF)	sont	sécantes	en	I	et	coupées	par	les	parallèles	(AF)	et	(CE).	
D’après	le	théorème	de	Thalès	:	
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En	effectuant	les	produits	en	croix,	on	obtient	:	𝐼𝐸 = 4×13
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Vignette	n°3	:	
	
Les	droites	(OB)	et	(EN)	sont	sécantes	en	P	et	coupées	par	les	parallèles	(OE)	et	(NB).	
D’après	le	théorème	de	Thalès	:	
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En	effectuant	les	produits	en	croix,	on	obtient	:	𝑃𝑂 = @×/2
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=14,4		 	

donc	OB	=	OP	+	PB	=	14,4	+	6	=	20,4	
	
Vignette	n°4	:	
	
Les	droites	(AM)	et	(UZ)	sont	sécantes	en	P	et	coupées	par	les	parallèles	(AU)	et	(ZM).	
D’après	le	théorème	de	Thalès	:	
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En	effectuant	les	produits	en	croix,	on	obtient	:	𝑃𝑍 = /.×//
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	≈ 11,8	

	


